







Outline – Continued

☑ Probabilistic Models and Safety Stock

- ☑ Other Probabilistic Models
- ✓ Fixed-Period (P) Systems





When you complete this chapter, you should be able to:

Describe or Explain:

☑ The functions of inventory and basic inventory models



- Amazon.com started as a "virtual" retailer – no inventory, no warehouses, no overhead; just computers taking orders to be filled by others
- Growth has forced Amazon.com to become a world leader in warehousing and inventory management

Amazon.com

- 1. Each order is assigned by computer to the closest distribution center that has the product(s)
- 2. A "flow meister" at each distribution center assigns work crews
- 3. Lights indicate products that are to be picked and the light is reset
- 4. Items are placed in crates on a conveyor. Bar code scanners scan each item 15 times to virtually eliminate errors.















ABC Analysis

ltem Stock Number	Percent of Number of Items Stocked	Annual Volume (units)	x	Unit Cost	=	Annual Dollar Volume	Percent of Annual Dollar Volume		Class
#10286	20%	1,000		\$ 90.00		\$ 90,000	38.8%	72%	Α
#11526		500		154.00		77,000	33.2%		Α
#12760		1,550		17.00		26,350	11.3%		В
#10867	30%	350		42.86		15,001	6.4%	23%	В
#10500		1,000		12.50		12,500	5.4%		в

ABC Analysis

ltem Stock Number	Percent of Number of Items Stocked	Annual Volume (units)	x	Unit Cost	=	Annual Dollar Volume	Percent of Annual Dollar Volume		Class
#12572		600		\$ 14.17		\$ 8,502	3.7%		С
#14075		2,000		.60		1,200	.5%		с
#01036	50%	100		8.50		850	.4%	5%	с
#01307		1,200		.42		504	.2%		с
#10572		250		.60		150	.1%		с







☑ Policies employed may include

- ☑ More emphasis on supplier development for A items
- ☑ Tighter physical inventory control for A items
- ☑ More care in forecasting A items







Control of Service Inventories

- ☑ Can be a critical component of profitability
- ✓ Losses may come from shrinkage or pilferage
- ☑ Applicable techniques include
 - 1. Good personnel selection, training, and discipline
 - 2. Tight control on incoming shipments
 - 3. Effective control on all goods leaving facility





- ☑ Holding costs the costs of holding or "carrying" inventory over time
- Ordering costs the costs of placing an order and receiving goods
- Setup costs cost to prepare a machine or process for manufacturing an order

Holding Cost	5
Category	Cost (and Range) as a Percent of Inventory Value
Housing costs (including rent or depreciation, operating costs, taxes, insurance)	6% (3 - 10%)
Material handling costs (equipment lease or depreciation, power, operating cost)	3% (1 - 3.5%)
Labor cost	3% (3 - 5%)
Investment costs (borrowing costs, taxes, and insurance on inventory)	11% (6 - 24%)
Pilferage, space, and obsolescence	3% (2 - 5%)
Overall carrying cost	26%

Inventory Models for Independent Demand

Need to determine when and how much to order

- ☑ Basic economic order quantity
- **☑** *Production order quantity*
- ☑ Quantity discount model



















An EOQ Example





An EOQ Example



























A typical	l quantity discou	nt schedule	I.
Discount Number	Discount Quantity	Discount (%)	Discoun Price (P)
1	0 to 999	no discount	\$5.00
2	1,000 <i>to</i> 1,999	4	\$4.80
3	2,000 and over	5	\$4.75
5	2,000 and over	5	τ-1./ 10 0



Steps in analyzing a quantity discount

- 1. For each discount, calculate Q*
- 2. If Q* for a discount doesn't qualify, choose the smallest possible order size to get the discount
- 3. Compute the total cost for each Q* or adjusted value from Step 2
- 4. Select the Q* that gives the lowest total cost







Quantity Discount Example

Discount Number	Unit Price	Order Quantity	Annual Product Cost	Annual Ordering Cost	Annual Holding Cost	Total
1	\$5.00	700	\$25,000	\$350	\$350	\$25,700
2	\$4.80	1,000	\$24,000	\$245	\$480	\$24,725
3	\$4.75	2,000	\$23.750	\$122.50	\$950	\$24,822.50
						Table 12.3
C tř	hoose ne low	e the prio vest total	ce and q cost	uantity t	hat give	es
	B	uy 1,000	units at	\$4.80 pe	r unit	



Safety Stock Example

ROP = 50 units	Stockout cost = \$40 per frame
Orders per year = 6	Carrying cost = \$5 per frame per year

Number of	Units	Probability
	30	.2
	40	.2
$ROP \rightarrow$	50	.3
	60	.2
	70	.1
	-	1.0





















Daily demand (constant) = 10Z for 98% = 2.055Average lead time = 6 daysFrom Appendix IStandard deviation of lead time = $\sigma_{it} = 3$ 98% service level desired

ROP = (10 units x 6 days) + 2.055(10 units)(3) = 60 + 61.55 = 121.65

Reorder point is about 122 units











Fixed-Period Systems

- ☑ Inventory is only counted at each review period
- ☑ May be scheduled at convenient times
- ☑ Appropriate in routine situations
- ✓ May result in stockouts between periods
- ☑ May require increased safety stock